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UNIVERSITY OF NORTH BENGAL 

B.A./B.Sc. Programme 3rd Semester Examination, 2021  

DSC1/2/3-P3-ECONOMICS 

DEVELOPMENT ECONOMICS 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 GROUP-A /িবভাগ-ক / lewg-d 

1. Answer any four questions from the following: 3×4 = 12

 িনmিলিখত �য-�কান চারিট  pেűর উtর দাওঃ 

 dquS pkjoVk iz”ug:dks mÙkj fnuqgksl~  

(a) What are tied and untied foreign aid? 

 শত�াধীন ও শত�হীন �বেদিশক সাহায° বলেত িক �বাঝ ? 

 cU/ku;qä vfu cU/kueqä fons”kh lgk;rk Hkusdks ds gks \ 
(b) Mention three functions of IMF. 

 আnজ�ািতক মুdাভাčােরর (IMF) িতনিট কায� উেlখ কর। 

 IMF-dks rhuoVk dk;Zg: crkmuqgksl~A 
(c) What are the components of HPI? 

 মানব দািরd° সূচেকর (HPI) উপাদানgিল িক িক ? 

 HPI dk la?kVdg: ds ds gqu~ \ 
(d) Distinguish between economic growth and economic development. 

 অথ�ৈনিতক pবৃিd ও অথ�ৈনিতক উnয়েনর মেধ° পাথ�ক° �লখ। 

 vkfFkZd mit rFkk vkfFkZd fodklek> ikFkZD; xuZqgksl~A 

(e) Distinguish between balanced and unbalanced growth. 

 সুষম উnয়ন ও অসম উnয়েনর মেধ° পাথ�ক° �লখ। 

 lUrqfyr vfu vlUrqfyr mitg:ek> ikFkZD; xuZqgksl~A 
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(f) Explain foreign direct investment (FDI) 

 pত°k �বেদিশক িবিনেয়াগ ব°খ°া কর। 

 izR;{k fons”kh fuos”k Hkusdks cq>kmuqgksl~A 

  

 GROUP-B / িবভাগ-খ / lewg-[k 

2. Answer any four questions from the following: 6×4 = 24

 িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ 

 dquS pkjoVk iz”ug:dks mÙkj fnuqgksl~ 

(a) Can per capita income be used as an index of economic development? Discuss. 6

 মাথািপছু আয়েক িক অথ�ৈনিতক উnয়েনর সূচক িহসােব গণ° করা যায় ? ব°াখ°া কর। 

 ds izfrHkfä vk;ykbZ vkfFkZd fodkldks lwpddks :iek iz;ksx xuZ lfdUN \ ppkZ 
xuZqgksl~A 

(b) Briefly explain the complementary roles played by agriculture and industry in a 
developing economy. 

6

 উnয়নশীল অথ�নীিতেত kিষ ও িশেlর পারsিরক ɛিমকা সংেkেপ ব°াখ°া কর। 

 dquS fodkl”khy ns”kek Ñf’k vfu m|ksx {ks=dks vuqiwjddks Hkwfedk laf{kIrek O;k[;k 
xuZqgksl~A 

(c) What are the adverse effects of population growth on the developing economy? 6

 উnয়নশীল অথ�নীিতেত জনসংখ°া বৃিdর pিতkল pভাবgিল িক িক ? 

 fodkl”khy ns”kek tula[;k of̀)dks izfrdwy izHkkog: ds ds gqu~ \ 
(d) Discuss the role of IMF in economic development of the LDCs. 6

 অনুnত অথ�নীিতর আিথ�ক উnয়েন আnজ�ািতক মুdাভাčােরর ɛিমকা আেলাচনা কর। 

 LDC-g:dks vkfFkZd fodklek IMF-dks Hkwfedk ppkZ xuZqgksl~A 

(e) Mention the arguments in favour of balanced growth. What are the hindrances or 
obstacles to balanced growth in case of an underdeveloped economy? 

2+4 = 6

 সুষম উnয়েনর সপেk যিুk দাও। উnয়নশীল অথ�নীিতেত এই উnয়ন �কৗশেলর pধান অnরায়gিল িক 
িক ? 

 lUrqfyr mitdks i{kek Hk,dk rdZg: mYys[k xuZqgksl~A vYifodflr ns”kdks lUnHkZek 
lUrqfyr mitdks lkeq dLrks dLrks vojks/kg: ok ck/kkg: gqUN \ 

(f) Distinguish between labour intensive and capital intensive methods of production. 6

 Ëম িনিবড় ও মূলধন িনিবড় উৎপাদন �কৗশেলর মেধ° পাথ�ক° �লখ। 

 mRiknudks Je-iz/kku vfu iw¡th iz/kku fof/kg:ek> ikFkZD; xuZqgksl~A 
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 GROUP-C / িবভাগ-গ / lewg-x 

3. Answer any two questions from the following: 12×2 = 24

 িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

 dquS nqbZoVk iz”ug:dks mÙkj fnuqgksl~ 

(a) What is the importance of capital formation? Explain the causes of low rate of 
capital formation in LDCs. 

6+6 = 12

 মূলধন গঠেনর grt আেলাচনা কর। sেlাnত �দশgিলেত sl মূলধন গঠেনর কারণgিল িক িক ? 

 iw¡th fuekZ.kdks egRo ds gks \ vYifodflr ns”kg:ek (LDCs) iw¡th fuekZ.kdks fuEu 
njdk dkj.kg: O;k[;k xuZqgksl~A 

(b) What are the different forms of foreign capital? Discuss the role of foreign capital 
in the development of the developing countries. 

4+8 = 12

 �বেদিশক মূলধেনর িবিভn ধরনgিল িক িক ? উnয়নশীল �দশgিলর অথ�ৈনিতক উnয়েন �বেদিশক 
মূলধেনর ɛিমকা আেলাচনা কর। 

 fons”kh iw¡thdk fofHkUu izdkjg: ds ds gqu~ \ fodkl”khy ns”kg:dks fodklek fons”kh 
iw¡thdks Hkwfedk ppkZ xuZqgksl~A 

(c) Discuss the role of technology in agriculture and industry. 12

 kিষ ও িশেlর উnয়েন pযুিkর ɛিমকা আেলাচনা কর। 

 *Ñf’k-{ks= vfu m|ksx-{ks=ek izk|ksfxdhdks Hkwfedk ppkZ xuZqgksl~A 

(d) What are the major issues of India’s population problem? Explain the National 
Population Policy, 2000. 

5+7= 12

 ভারেত জনসংখ°া সmিক�ত pধান সমস°াgিল িক িক ? ২০০০ সােলর জাতীয় জনসংখ°া সmিক�ত 
নীিতমালািট িবেųষণ কর। 

 Hkkjrdks tula[;k leL;kdks eq[; eqÌkg: ds ds gqu~ \ jk’Vªh; tula[;k uhfr 2000 
O;k[;k xuZqgksl~A 
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